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Local production for local consumption

Figl. Invasive species
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We import many foods, plants and animals from abroad. (Foreign species of plants and
animals have been used for landscape restoration, biological pest control, sport, pets, and

Some non-native species have caused major economic losses in agriculture, forestry, and
several other segments of world economy, in addition to harming the environment.

To solve this problem we should produce local foods
and other things which we need to live in each place.
As aresult, it isimportant to make a circulating society:
production, consumption and disposal at local size
community as well as possible.
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Local production for local consumption.
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The local production for local consumption?
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The consumption of crop and marine products that are locally produced in
the local
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The retail store treats non standard goods.
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| Local_production for local consumption’s advantage. |
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+ Non standard products can be consumed in the local without

spending the transportation costs.

The large store not arranged only standard goods but has been produced
many non standard goods until now.it has abandoned all can be
consumed without the cost in local production for local consumption.
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Is it trut?
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workload of production > workload of transportation
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Example. Material of Bread
North America = fuel for transportation

Japan = fuel for dryer because it is raining a lot in Japan

FESINEVN?,
BEHHEE  Right Land, Right Crop

| think the most important thing is you should see the happening from different angle. |
don’t know the best thing for earth , so we need to make sure that which one is important or
not. AEIRZE(F. HRIERBEBBHCLBNTZ &, BEBICREBULELDRVRIEENSET,
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Local production for local consumption &

food self-sufficiency ratio
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(Assume all calories of the

eaten thing 100Cal in the

country a year. —Assume all

Calories of the food cooked

soon in the country 10Cal. )

1A

ToOEOHO)—A—X [
BHBEEET10%E45,

(The calorie base of the
country becomes 10%.)
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(The world and food self-
sufficiency ratio in Japan)
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Local production for local consumption
and environment
~EHGEED A Y » R EF AU v [[merit and demerit] ~
EBECORBU?
Cooperation with producers
oL Sl A REBEREEORR
Regional activation e ¥ q Healthy eating culture :] A vk
WARE - 13917 % Ok iEREA Y, Haul distance is short.
Environmental protection 1271 (REBRIAOER @%ﬁfﬁggﬁﬁz 7)§Hj—§:\ ﬁﬁ(:ﬁb v, Local production for
] Understanding of the local consumption is eco-friendly.
ROES - Bl season'and food cutire OWHBF ITAEER DBEN A Z TRL,
Food safety SHagFonL l In addition, it is comfortable because consumer and
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7—K21L—2 food-mileage
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The food mileage , represented by the moving distance and the weight of the food . As
the dist from the areas to is far , it b a large value ,
it requires a large amount of energy in transport.

Reduce food mileage = Reduce transportation energy = Reduce fossil energy usage
and CO2 emissions.
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There is a food that does not cover in the regions.
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It can be solved by right crop for right land. S

Solution
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What I identify to one food.
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I brought up food in an area and built the
sale in the near place from there and wanted to do it in
that local. Production for local consumption was near.
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